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Note : First 15 minutes are allotted for the 3ndidates to read the question paper.
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Instructions :
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1)

1)

i)

All questions are compulsory. 0

Question Numbers 1 to 10 are Multiple Choice Type for which only correct
answer should be written in the answer-book. Question Numbers 11 to 18
are Very Short Answer Type, which are to be answered in about 50 words
each, Question Numbers 19 tcg4 are Short Answer Type, which are to be
answered in about 150 words-ééach and Question Numbers 25 to 27 are
Long Answer Type, which are to(%e answered in about 300 words each.

Allotted marks of all the questic')%s are given against them.
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( Multiple Choﬁ Type Questions )
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Write the correct answers of the following@estjons in your answer-book :
1. Who is called the father of Economics ?
a}] Adam Smith b) Marshall ¢) Robbins d) Mehta 1
2. "What ought to be ?" is a subject ma@ of
-
a) Positive Economics 2 b} Normative Economics
c¢) Both (A) and (B) g d) None of these 1
3. In how many categories are the factors of production broadly divided ?
a) 2 b)) 3 0 4 d 5 1
4. If the demand curve is parallel to x-axis, then elasticity of demand is
a) infinite b) one O c) lessthanone d) morethanonel

5. * If the demand curve is parallel to x-axis, then what type of market will it be ?

a) Perfect competitive O b} Monopolistic
c) Oligopoly — d) Monopolistic competitive 1
-

6. Where is the headquarters of Reservcaﬁjank of India ?

AN
a) Delhi b} Mumbai c) Kolkata d) Chennai = 1
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7. Who presented the Central Budget on 23rd July, 2024 ?

a) Narendra Modi Cb) Nirmala Sitharaman
) Yogi Adityanath ¢~l) Amit Shah l
—

8. If the value of marginal propensity td_donsume is 0.8, what will be the value ¢
Y

=

marginal propensity to save ?
a) 18 b) 10 ¢ 02 d) Zero k

9. Keynes is associated with

o

a) Micro-Economics b) Macro-Economics
c) Both (A) and (B) d) None of these 1
10. Study of National Income is related to
L2
a) Micro-Economics Ob) Macro-Economics
-

c) Both (A) and (B) E None of these 1

d)
( arfe erg ot v )

( Very Short Answer Type Questions )

11. g dwmra” | R 7 :
11. What is "Micro-Economics" ? k
12. “‘ITAfar’ & A9 T EHAA & ? O :

12. What do you mean by "Utility" ?

13. “‘ara’ & ¥4 fmm @ ?

13. What does "Cost" mean ? )
YA

14, ‘a3 (mmE)” | w1 AfwE 2 ? E.
(@)

14. What does "Revenue” mean ? D
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15. ‘d% w=I B R ¢

“3
wd

15 What s a Bank ?

», ’
16. 9N @ w1 sifiumg 2 7 Jard 3
-
16. What do you mean by "Market" ? 5 3
. . +
17, g V=R & % shm 7 3
17. What is meant by "Full Employment” ? 3
18 “WR T2 7 3
18. What is "Repo Rate" ? 3
(g Il v )
( Short Answer Type Questions )
ig.uﬁﬁﬁaﬁﬁﬁrﬁwﬁnﬁam%m 6
-
* . —A . -
19. Explain various degrees of elasticity of qgmnand diagrammatically. 6
AN

20. 399 H Harw ygfa 3R 9aq K dam wJ@fn & = o d o mgma g s wme i L 6

20. Differentiate between marginal propensity to consume and marginal propensity to

save diagrammatically. 6

21. mna@ﬁ%ml,ooow%ts%aaﬁmmwm 1,500 ¥R & Il 2 |
= 3 71 FRT | 6

121. Total Revenue of 10 labourers is Rs. 1,000. When 5 labourers are increased their

Total Revenue becomes Rs. 1,500. Calc@tc Marginal Revenue. 6

22, 1 TR 9@ I & GHHA | 6

22. Explain credit creation by banks.
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23.

23.

24,

24,

25.

25.

26.

26.

qrrl 52 % fohedl fR Seval e |
f

Explain any three objectives of C}OVEI‘B’[ETI'[ Budget.

aﬁ;ﬁ%ﬂ’mamﬁuﬁm%@lmaﬁ ? AARA |
| @)
How is the flexible rate of exchange d'g:}htermined ? Explain.

( o swifa wr )

( Long Answer Type Questions )
maaﬁﬁmammﬁg@msmm 1
HAYAT

w9 Tl Twg 61 Hir 10 ¥ ufd 31 @ Tgwt 11 #93 w518 @ o 2 A IEE W
100Wﬁwgomr@wg,%ﬁ;ﬁamaﬁ| .

Explain consumer's equilibrium with_?he help of indifference curves. 1
O
DR
EON

When the price of a commodity increases from Rs. 10 per unit to Rs. 11 per unit, i

demand shrinks from 100 units to 90 units. Calculate elasticity of demand. 1
gl sfadifien & sy w0 wuyd € 7 g wiE fasvaeit w1 Al S | 2+
S
HIHT T STt § T o & qfd @56 1 =g hifsw | 5+

What do you understand by Perfect Competition ? Explain its salient features.

9, 2+
o
-
CPR
-
Explain the supply curve of a firm inﬁnort period and long period. S+
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07, ﬁﬁmﬁmﬁmﬂma@nﬁnwﬁha%lﬁmaﬁ%mmmmmzﬁmm
1 hifu

D 10
Ferm i (Fg w0 i) 9
g oo 2
A () 400 @
Ll 50
ST 300
fafara s 250
S
T 3 it T Y Iware fafy &1 9ol S | 10
I-'Z7- Following data is related to an economy. On the basis of these data calculate
National Income of that economy : 10
Details Amount (In Crore Rup%}
Wages 1000 S
Rent 400 $
Interest 50 =
Dividend . 300
Mixed Income 250
OR
Describe the Product method of cstimaB'l of National Income. 10
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